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Glueballs in 3D
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Glueballs in 3D
state lattice, N = 3 .lattice, N — oo sugra
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Glueballs in 4D

state lattice, N.= 3 sugra
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Glueballs in 4D

state lattice, N = 3 sugra
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Leading String Theory Corrections

(Gubser, Klebanov, Tseytlin hep-th/9805156)
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state  |(—k?) (—6k®) dk*/kj
g++ 11.59 89.75 T7.74
g+ 34.53 360.7 10.59
gt | 68.98 8098 11.74
ot++=* 11149 1397 1216
Qt+e== 1 1723 2122 1232
QF+==**+1241.2 2991 1240
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.7 -

11.59 x (1 —2.78¢(3)a" + - - -
34.53 x (1 — 2.43¢(3)a" + - - -
68.98 x (1 — 2.28¢(3)a"® + - - -
114.9 x (1 —2.23¢(3)a” + - - -
172.3 x (1 —2.21¢(3)a” + - - -
241.2 x (1 —2.20(3)a” + - -

Leading String Theory Corrections
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